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| Specifications

Type name ME|:|—20—|:| P|:|

Shaft shape Pulse Output circuit
®S=single shaft number ®No entry=voltage output ®E=line driver output
®H=hollow shaft ®C=open collector output ®S=sine wave output
ltem ®D=double shaft ®C4=open collector output DC24V ~ ®ST[1(2-4-5-8-10-16-20)
Square wave Built-in multiplication circuit (X2+X4+X5:X8+X10-X16+X20)

Voltage.” Open collector:DC5V—5%~12V+10%
Supply voltage Open collector C4:DC24V+10%
Line driver:DC5V—5%~5V+10%

Voltage.~ Open collector:DC5V —5%~12V+10%
Line driver:DC5V+5%

Current consumption 70mA or less (under no load) 100mA or less (under no load)
Detection system Incremental Incremental
40 250 512 600 1,800 (3%) EX 7,200%2(14,400)
50 256 800 2,000 (3%) 7,200%4(28,800)
Output pulse number 60 300 1,000 2048 (%) 72005 (36.000)
(Standard) 100 360 1,024 2,500 (3%) 7,200%8(57,600)
) 125 400 1,200 3,600 (3%) 7,200%x10(72,000)
(Pulse number/rotation) 200 500 1500 5400 (%) 7'200%16(115.200)
7,200 (3%) 7,200%20(144,000)
o Output phase A, B, Z phase A, B, Z phase
é’ Output form Square wave Square wave

Sink current:20mA
Residual voltage:0.5V or less (at 10mA)
Open collector output:Load voltage DC13.2V max

Sink current:20mA

Output capacity Residual voltage:0.5V or less (at 10mA)

Line driver output:50kHzX (by multiplication)

Maximum response frequency
100kHz Voltage-Open collector output:100kHz

(response pulse number)

A, B phase difference 90°+45°(T/4+£T/8)

Z phase TxT/2 (see Output Waveform) Refer to the figure on the right

Output phase difference

Waveform rise/fall time 2us or less (output cable 1m or less) —
Allowable load of | Radial 19.6N (2kgf) 14.7N(1.5kgf) 14.7N(1.5kgf)
shaft (electrical) | Thpyst 9.8N(1kef) 4.9N(0.5kgf) 4.9N(0.5kgf)
Naximum &jwable revolutions 6,000r/min 6,000r/min
Working ambient temperature/ —10°C~70C —10C~70C
humidity RH35%~90% no dewing RH35%~90% no dewing
Storing ambient temperature —20°C~80°C —20°C~80°C
Vibration resistance Durability 55Hz: double amplitu_de 1_.5mm Durability 55Hz_, double amplitu_de 1_.5mm
2 hours each in X, Y, and Z directions 2 hours each in X, Y, and Z directions
Impact resistance _Durability &_SOOm/sz (about _50G_) _Durability 5_OOm/s2 (about _50G_)
3 times each in X, Y, and Z directions 3 times each in X, Y, and Z directions
Cable Outside diameter $4.2 5-core vinyl wire Outside diameter $4.2 5-core vinyl wire
Insulated shield cable (length 1m) Insulated shield cable (length 1m)
Mass 70g 70g

$*Handled by built-in multiplier circuit



I Outside dimensions I Output circuit diagram
Voltage output (standard type) | | Open collector output (option) | | Line driver output (option)

M ES—20—P ‘1732 Cable color
1 Cable color Cable color d+s5vpC (v‘ed)
A B Z
(white, green, yellow)
1 ’- Power (red) OPower (red) e een vl
o ~ 3 2.2k0 A B Z S5A.BZ Q green/black, yellow/black)
N ‘ ﬁ 1wh\te,. green, yellow) (wh\te: green, yellow) Soviblack)
| |_ — A maximum A maximum (shield)
1 — ——— ?s\é(‘ke):g?k) ——— gﬁfg:g;}k) Main body—shield no connection
o LD ‘ LO Main body—shield no connection Main body—shield no connection
- ’\t ! o) Note: If the transmission distance is
‘ long, it should be so considered that the
55 specified voltage occurs at the input
+0 portion of the encoder cable end.
60012 A capacitor (0.1uF) is connected between OV and FG (frame ground).
| I
|
Output waveform (Square wave
QOutput cable P ( a )
L=1,000 CW rotation (CW rotation as seen from fit suface) ~ CCW rotation (CCW rotation as seen from fit surface)
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equal arrangement ‘ © H H
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»l—l«},%(go&zts“) T E(907+45")
M E H _ZO_P H H
0 $32 Z phase L I Z phase A S B
o 6.7 Output cable el s e
= L=1,000 *The position of Z phase against A, B phase is not specified.
o |
oo 104 . L
; \ - — | Output waveform/Built-in multiplication circuit (X2:X4+X5-X8-X10-X16+X20)
CW rotation (CW rotation as seen from fit surface)
$538012 tg T
$1O t
3-M3 depth 5
equal arrangement
A phase
B phase
Z phase
T£T/2
I |
T=T%x0.3T
t=1/4 T£0.3t
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